UGC NET 2021 Persian

Topic:- 42PERSIAN_A

1 - 2
d!;i’, /Jl),'l was attached to the court of :
(1) g;,'?:é/ @ eliag

3 b @ Ly

[Question ID = 712][Question Description = Q01_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2845]
2. 2 [Option ID = 2846]
3. 3 [Option ID = 2847]
4. 4 [Option ID = 2848]

2) .
The first J,-}"'L‘ compiled in India is :

a Pl @) uf;wl/g

(3) rgic’lﬁ w JW¥ 2

[Question ID = 713][Question Description = Q02_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]
3. 3 [Option ID = 2851]
4. 4 [Option ID = 2852]

3)
/Uié/t" was completed in
(1) 618AH. (2) 619AH.
(3) 612AH (4) TI6AH.

[Question ID = 714][Question Description = Q03_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]
3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]

4 .
dfj dedicated his &Lf})icl;}&kgfc‘lf to

(1) ﬂ'uﬂﬁfu'}u'w @ Vet
(3) Lﬁtifj.mrruﬁ () Jrld_,dﬂ.fﬁww

[Question ID = 715][Question Description = Q04_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2857]
2. 2 [Option ID = 2858]
3. 3 [Option ID = 2859]
4. 4 [Option ID = 2860]

5)
yzljfwas written in



® & @ .l

@ o @ 4

[Question ID = 716][Question Description = Q05_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2861]
2. 2 [Option ID = 2862]
3. 3 [Option ID = 2863]
4. 4 [Option ID = 2864]

6) . .
LBL'L?{EI/-’ Lived in

(1) A @ Izl
(3) L‘Jt’gy-b' @ Jlelsl

[Question ID = 717][Question Description = Q06_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2865]
2. 2 [Option ID = 2866]
3. 3 [Option ID = 2867]
4. 4 [Option ID = 2868]

7)

u}u:&\_g}’ 1s burled at

® L @ <04
3 @ &

[Question ID = 718][Question Description = Q07_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2869]
2. 2 [Option ID = 2870]
3. 3 [Option ID = 2871]
4. 4 [Option ID = 2872]

8) ;
df,ful/;’ 1z a work by
®  Ghok @ ObSus 2
@ LG @ ¢ & V1@

[Question ID = 719][Question Description = Q08_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2873]
2. 2 [Option ID = 2874]
3. 3 [Option ID = 2875]
4. 4 [Option ID = 2876]

7 ;L»V‘quf,}. of J/";F,{"l deals with
1) :?;,;L)&('*LJIW:;G'W
2) sie"ij/éoﬂ,dldﬂe} :ﬁ:(g;f,;dl;w‘uﬂ-gf}.

3) :?j::.u;l,:ﬁ:(;{?uf

"
-



@ O LA A bbb ($sss.

[Question ID = 720][Question Description = Q09_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2877]
2. 2 [Option ID = 2878]
3. 3 [Option ID = 2879]
4. 4 [Option ID = 2880]

10) I N
C‘?lfdlf of 2~ | is the history of
® Ll drge @) Cngg,df@_L_f'
(3) Jw E Lo 4) :Gf cLal

[Question ID = 721][Question Description = Q10_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2881]
2. 2 [Option ID = 2882]
3. 3 [Option ID = 2883]
4. 4 [Option ID = 2884]

11) a
L;L"f'd:"!,vjf{,,f 18 regarded as
® Bk @ Gk
@ bk @) wrelbel

[Question ID = 722][Question Description = Q11_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2885]
2. 2 [Option ID = 2886]
3. 3 [Option ID = 2887]
4. 4 [Option ID = 2888]

12) a2
Lj/Lr':’ composed :
® bl @ b
(3) J[;J;b @) e

[Question ID = 723][Question Description = Q12_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2889]
2. 2 [Option ID = 2890]
3. 3 [Option ID = 2891]
4. 4 [Option ID = 2892]

13)

(le‘ is1n:
@ JUG @ I/l
(3) db'g{[f @ ek

[Question ID = 724][Question Description = Q13_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2893]
2. 2 [Option ID = 2894]
3. 3 [Option ID = 2895]
4. 4 [Option ID = 2896]

14) R
(_Eﬁor? and 3/-‘7/:,"r served in the court of :



LIS @ JL J e
‘_/)U‘diu @ el

[Question ID = 725][Question Description = Q14_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2897]
2. 2 [Option ID = 2898]
3. 3 [Option ID = 2899]
4. 4 [Option ID = 2900]

15) ;
)/-‘7/:;'" died :
1) T25AH 2 T38AH.
(3) T730AH. (4) 728 AH.

[Question ID = 726][Question Description = Q15_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2901]
2. 2 [Option ID = 2902]
3. 3 [Option ID = 2903]
4. 4 [Option ID = 2904]

16)
8 Lﬁ'”('/} Fisa dictlonary written by :

T @) _K..ff,- I

- | A

(1) (_EJLEL,EJI!:“
@&  SriFut # @ Sl

[Question ID = 727][Question Description = Q16_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2905]
2. 2 [Option ID = 2906]
3. 3 [Option ID = 2907]
4. 4 [Option ID = 2908]

17) J - .
;-WI}JJVJL'E'F iz the ~# ¥ of the book :

@ AR @ IR
® e @ LA

[Question ID = 728][Question Description = Q17_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2909]
2. 2 [Option ID = 2910]
3. 3 [Option ID = 2911]
4. 4 [Option ID = 2912]

18)
L‘,.'L“.ins;’ 1s situated in :

@ IO A @ Ul pa
& A (4) u'i,{ldbﬁ;:

[Question ID = 729][Question Description = Q18_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Option ID = 2915]
4. 4 [Option ID = 2916]



19) The court language of J?fﬁ' was :
@ Jblyb @ Qg
® OEIgHk @ sl

[Question ID = 730][Question Description = Q19_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2917]
2. 2 [Option ID = 2918]
3. 3 [Option ID = 2919]
4. 4 [Option ID = 2920]

20) &
The first King of 6". (& dynasty was :

(1) .j’.!‘:f @) lj; | Il
@ Sl (4) dsijgm

[Question ID = 731][Question Description = Q20_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2921]
2. 2 [Option ID = 2922]
3. 3 [Option ID = 2923]
4. 4 [Option ID = 2924]

21)

LE!L-':'&!/L' 1s also called :

m Qb @ sl
@ I @ [£B3J)

[Question ID = 732][Question Description = Q21_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2925]
2. 2 [Option ID = 2926]
3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]

22)
-.._alf/ was the first capital of :

W JPE @ kbl
® sl @ Jilb

[Question ID = 733][Question Description = Q22_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2929]
2. 2 [Option ID = 2930]
3. 3 [Option ID = 2931]
4. 4 [Option ID = 2932]

23) Founder of 3l dynasty was :
@ b @ #Flar
(3) ._ﬂa::'e‘! @ “,:':JJIJ

[Question ID = 734][Question Description = Q23_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2933]



2. 2 [Option ID = 2934]
3. 3 [Option ID = 2935]
4. 4 [Option ID = 2936]

24)

‘;X -.;'-:2 was built by :
(1) A @) (J:!)J:::u:‘:i;i:

@ LD (4) lfrfj;{;b

[Question ID = 735][Question Description = Q24_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2937]
2. 2 [Option ID = 2938]
3. 3 [Option ID = 2939]
4. 4 [Option ID = 2940]

25) . i . o
Teachings of <& ./ are contained in:
O () 30
@ A6 @ lair

[Question ID = 736][Question Description = Q25_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2941]
2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4. 4 [Option ID = 2944]

26) ”
(" ¥ was written from :

(D ezl R
(3) Uquf.l;JI (4) uf_g,,ﬂ@;’l

[Question ID = 737][Question Description = Q26_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2945]
2. 2 [Option ID = 2946]
3. 3 [Option ID = 2947]
4. 4 [Option ID = 2948]

27 5,0 Shie : .
) Inscriptions of L','_{{" & are inscribed on :

o & @) f_ﬁ
® L @

[Question ID = 738][Question Description = Q27_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2949]
2. 2 [Option ID = 2950]
3. 3 [Option ID = 2951]
4. 4 [Option ID = 2952]

28)
]
UL'L'L'; M became the official language during the period of :

@ gl @ bt

S 12427 @ sl



[Question ID = 739][Question Description = Q28_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2953]
2. 2 [Option ID = 2954]
3. 3 [Option ID = 2955]
4. 4 [Option ID = 2956]

29 -
) During the period of L;,.'L-'L'L' number of Jlgllf").a of L,'; !L'f_- language were:
® < @ &
@ & @ JZ

[Question ID = 740][Question Description = Q29_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2957]
2. 2 [Option ID = 2958]
3. 3 [Option ID = 2959]
4. 4 [Option ID = 2960]

30
) Arabs called their victory over Iranians as :

(1) C-?”f(i @ JiSng
ke p--'i
(3) fiv Qi (4) /‘-'-" 6

[Question ID = 741][Question Description = Q30_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2961]
2. 2 [Option ID = 2962]
3. 3 [Option ID = 2963]
4. 4 [Option ID = 2964]

31) 3
Jliass L,f:; shifted to j /:f during the reign of :

1) 6{‘{0{.,6”;1}; @ SIS
(3) 6"?:31:3:-},50 (4) lfy,ufld,,d!flki

[Question ID = 742][Question Description = Q31_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2965]
2. 2 [Option ID = 2966]
3. 3 [Option ID = 2967]
4. 4 [Option ID = 2968]

32) L
4. 1z the commentary of :

a b @) ..:.af-;
@ 4 @ Lol

[Question ID = 743][Question Description = Q32_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2969]
2. 2 [Option ID = 2970]
3. 3 [Option ID = 2971]
4. 4 [Option ID = 2972]

33)
';_JL‘gJ."‘; was appointed as Prime Minister by :

® AL @ HLBilacL il w

ES
-



@ prAlLlel @ radANg

[Question ID = 744][Question Description = Q33_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2973]
2. 2 [Option ID = 2974]
3. 3 [Option ID = 2975]
4. 4 [Option ID = 2976]

34)
uﬁ_fi!’l &7 3 was written in :

M Ollas @ O
@ & Eum @  (5eons

[Question ID = 745][Question Description = Q34_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2977]
2. 2 [Option ID = 2978]
3. 3 [Option ID = 2979]
4. 4 [Option ID = 2980]

35) 3 .
d_,a)fulf__} of 3 ~7 | deals with :

(1) 3,‘:’_;,;!_/:@-":.:("{_,&?‘:.-5'!}‘
@) sﬁf}édﬂ!dk};ﬂdﬂ!?’pﬁb_ﬁ
(3) J:"’jiu,g’pﬁ‘/:.ﬁ'l}f

(4) CJWQI.JI.E-« L#La L}}/é;_p[,dldﬂfdwké_.uu

[Question ID = 746][Question Description = Q35_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2981]
2. 2 [Option ID = 2982]
3. 3 [Option ID = 2983]
4. 4 [Option ID = 2984]

36) Izskander Beg served the court of Shah Abbas as

a fE @ &

o @ o

[Question ID = 747][Question Description = Q36_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2985]
2. 2 [Option ID = 2986]
3. 3 [Option ID = 2987]
4. 4 [Option ID = 2988]

37 o s ; . %
) Commentary on Avesta )-'.-"L. was written during the period of :

o ol @ (Ol
& & @ Okl

[Question ID = 748][Question Description = Q37_Persian_42_SHAAN_20NOV_S1_Shift1]



1 [Option ID = 2989]
2 [Option ID = 2990]
3 [Option ID = 2991]
4 [Option ID = 2992]

A W N -

38) . S
Script of Old Persian 1s :

o &» @ My

3 Qbals @ Sy

[Question ID = 749][Question Description = Q38_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2993]
2. 2 [Option ID = 2994]
3. 3 [Option ID = 2995]
4. 4 [Option ID = 2996]

39)
The title bestowed upon L}‘IJE’}B‘; by l*"}’s Lf,u; was :

@ Al 2l @ !y

®  Aidla (4) Mllf[b‘i

[Question ID = 750][Question Description = Q39_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2997]
2. 2 [Option ID = 2998]
3. 3 [Option ID = 2999]
4. 4 [Option ID = 3000]

40)

L}PWCI:‘L‘)IC? 1s a book of

@ oS E @) .ﬁ;
(3) () (4) ’EJ

[Question ID = 751][Question Description = Q40_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3001]
2. 2 [Option ID = 3002]
3. 3 [Option ID = 3003]
4. 4 [Option ID = 3004]

41)

G017

@ 1162
® S LFEL

© =P G’;J_.J;j;j r':‘

P
(D) w5 DEE D

(E) Jjjéﬁﬁﬂdﬂ;f’“sﬁﬁw‘ﬂéwfﬂ



Choose the correct answer from the options given below :
(1) (A). (B) and (C) only (2) (B). (C)and (D) only
(3)  (A). (C) and (E) only (4)  (A), (D) and (E) only

[Question ID = 752][Question Description = Q41_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3005]
2. 2 [Option ID = 3006]
3. 3 [Option ID = 3007]
4. 4 [Option ID = 3008]

42)

&

(A) ﬁ‘df”:,ﬁfulﬂ'\o{.wa
(B) ,&J;,{."J;

(©) :f;d[:‘rL;JUinlr
(D) ::I_f;?f;j Pt

® 31 G 2

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only 2y (A). (C) and (D) only
(3)  (B).(C) and (D) only (4) (B). (D) and (E) only

[Question ID = 753][Question Description = Q42_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3009]
2. 2 [Option ID = 3010]
3. 3 [Option ID = 3011]
4. 4 [Option ID = 3012]

43)

L I ar

(4) &L&BJQQ&&&I;J»

®) Ll

© S A ,-B,,IJ{_E,,:LJ/:?

@ S eIl T 5 Lo 215

® oS L"d‘i;_}"fa

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only (2) (A). (C) and (E) only
(3)  (B). (C) and (D) only (4) (C). (D) and (E) only

[Question ID = 754][Question Description = Q43_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3013]
2. 2 [Option ID = 3014]
3. 3 [Option ID = 3015]
4. 4 [Option ID = 3016]



44)

b

(A) :)L:.«E;r-%%;

(B) 2l 08 )JUFL,‘:}”::‘

©  eShyF sl L*'._..dt!aﬁg»
(D) ::j;:éb',_}j.)lmﬁn

® ALl A

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (C). (D) and (E) only (4) (A). (C) and (D) only

[Question ID = 755][Question Description = Q44_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3017]
2. 2 [Option ID = 3018]
3. 3 [Option ID = 3019]
4. 4 [Option ID = 3020]

45) ™
The books written by » p [uly are:

(A) :@JIJ.._;}I.._.J;T
(B) ;JU.U;_;JW-‘

(©) J.,PJIC;
(D) ,U}!J!:‘;?:’:

® el

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (O). (D) and (E) only (4) (A). (D) and (E) only

[Question ID = 756][Question Description = Q45_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3021]
2. 2 [Option ID = 3022]
3. 3 [Option ID = 3023]
4. 4 [Option ID = 3024]

46) :
gfglr‘f.a.u.'-'l wrote :

(4) Jj/iﬂrﬁ

® kel e



W) o A R

® Je*

(E) Jf* v

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A). (B) and (C) only
(3)  (A). (D)and (E) only (4) (B). (D) and (E) only

[Question ID = 757][Question Description = Q46_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3025]
2. 2 [Option ID = 3026]
3. 3 [Option ID = 3027]
4. 4 [Option ID = 3028]

47) . k] ’6
Among the following statements about :.'/;'F}UPO L/ the correct are :

@ 2Pl

B fiuiﬁ)'aw}ﬁw.!r)%rx}

H

© AEsLIELS £ 2
@ =2 A

(E) ;J’dju/lwf’«fﬂ 3

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (0). (D) and (E) only (4) (B). (D) and (E) only

[Question ID = 758][Question Description = Q47_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3029]
2. 2 [Option ID = 3030]
3. 3 [Option ID = 3031]
4. 4 [Option ID = 3032]

48 -~
) 2l b wrote :
(4) d..w’"db
®) / A

© =402

D) Vﬁy v
(E) jw;cz

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (C). (D) and (E) only (4) (A). (D) and (E) only



[Question ID = 759][Question Description = Q48_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3033]
2. 2 [Option ID = 3034]
3. 3 [Option ID = 3035]
4. 4 [Option ID = 3036]

49)
Among the following statements about / é—; l* the correct are -

@ eAzbJITI T e

® eI

© = ,,:. be}“'ubh.‘bl.c‘ﬁf...._.aﬁ(uﬂl 7l
(D) mxlé;!?!ww;‘;?ﬁ’dr

® 2264 Loy 2k

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (B).(C) and (D) only
(3)  (C). (D) and (E) only (4) (A). (C) and (E) only

[Question ID = 760][Question Description = Q49_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3037]
2. 2 [Option ID = 3038]
3. 3 [Option ID = 3039]
4. 4 [Option ID = 3040]

50) o
J/Jlﬂ’z»‘.’. wrote :
(A) é,’r;}i:"ﬂ"”

B) Lia;éJl:'

(C) &J‘-

‘-.b

D) =

'3

(E) B"Jl:u;

Choose the correct answer from the options given below :
(1) (C). (D) and (E) only (2)  (A). (B) and (C) only
(3)  (B). (C)and (D) only (4) (A). (B) and (E) only

[Question ID = 761][Question Description = Q50_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3041]
2. 2 [Option ID = 3042]
3. 3 [Option ID = 3043]
4. 4 [Option ID = 3044]

51) )
It is =said about LSJI'}’:) ?”J&;‘:J{b ;



@ 2 ObL s I
B 4G sl
(©) JJ,’C;:%" w0 Jl
@) G

(E) M,La'?bjﬁé

Choose the correct answer from the options given below :
(1)  (Aonly (2) (B) only
(3) (C) only (4) (D) and (E) only

[Question ID = 762][Question Description = Q51_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3045]
2 [Option ID = 3046]
3 [Option ID = 3047]
4 [Option ID = 3048]

A W N -

52)

{f}J/;JL'-:'L'E ]
g e
@ e F g e 2

®  bers kOl A The ool sl f -
©  £FEUHL AL s L p fusbrbe LT
(D) 3/{5(_/‘5,«?}@{.‘;!,&";‘;ﬂg‘;}fs:}{&fﬁ,ﬁ";

(E) J;’rijiljaﬁ)‘[;ﬂdbb

Choose the correct answer from the options given below :
(1) (&) (B). (C) only (2) (B). (C). (D) only
(3 (A (B). (D) only (4) (A, (B). (E) only

[Question ID = 763][Question Description = Q52_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3049]
2 [Option ID = 3050]
3 [Option ID = 3051]
4 [Option ID = 3052]

A W N -

53)

P

(A) Lﬁﬁfﬁspiﬁgu};yf"_ﬂ,b

(B) n,{,g.,;:LJ.u J,g.fil.’iﬁf/

© s20u0sS 2P ANT s 1)

D) aflﬁifiﬁlfﬁ’wt?’lftdﬁfu’yw



(E) esidﬁffu}'.ﬁ}:&f

Choose the correct answer from the options given below :
(1) (A). (B) and (E) only (2) (C). (D) and (E) only

(3) (A). (B), (C) and (D) only (4) (A), (C) and (D) only
[Question ID = 764][Question Description = Q53_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3053]

2. 2 [Option ID = 3054]

3. 3 [Option ID = 3055]
4. 4 [Option ID = 3056]

54)

s 7 bl are:
(A) LD.'.,/EL’*‘!I:IJ

® L

(©) .»bdlv"'ydi’i‘
D) bl § e

(E) a::.ﬁ;:’-:&,»-’

Choose the correct answer from the options given below :
(1)  (A). (B) and (E) only (2) (B). (C). (D) and (E) only
(3)  (A). (B). (C) and (D) only (4) (A). (C). (D) and (E) only

[Question ID = 765][Question Description = Q54_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3057]
2. 2 [Option ID = 3058]
3. 3 [Option ID = 3059]
4. 4 [Option ID = 3060]

55) &
.ife},idﬁ'i;”d'_f& :

@  Jbr bl

® G~z

© rbf

D) d e

® G800

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only (2) (A). (B). (C) and (D) only
(3) (B). (C), (D) and (E) only (4) (C), (D) and (E) only
[Question ID = 766][Question Description = Q55_Persian_42_SHAAN_20NOV_S1_Shift1]

1. 1 [Option ID = 3061]
2. 2 [Option ID = 3062]



3. 3 [Option ID = 3063]
4. 4 [Option ID = 3064]

56)

L;‘:Ji)fﬂ bl »* wrote :
(A) J' !JI:;L*‘;;

® by

(©) j et

O bl

(E) ?!:.'.Ju:/s

Choose the correct answer from the options given below :

(1) (A). (B) and (E) only (2)  (B). (C) and (E) only

(3) (A). (B). (C) and (D) only (4) (A, (B). (C) and (E) only
[Question ID = 767][Question Description = Q56_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3065]
2. 2 [Option ID = 3066]

3. 3 [Option ID = 3067]
4. 4 [Option ID = 3068]

57 i : 2
) Whaich of the following Mathnavis are composed by {5 .![/L‘)L}" :

@A)  bals
B) bl
© X
@ b}
€& b0l

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (C) and (D) only

(3) (B). (C) and (E) only (4) (A), (B) and (E) only
[Question ID = 768][Question Description = Q57_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3069]
2. 2 [Option ID = 3070]

3. 3 [Option ID = 3071]
4. 4 [Option ID = 3072]

58
) df:}i' has written :
@ el

(B) ﬁ.?;'/'



© ey
D <M
® el
Choose the correct answer from the options given below :

(1) (D) and (E) only (2y (C). (D) and (E) only
(3) (A). (B) and (E) only (4) (A), (B) and (C) only

[Question ID = 769][Question Description = Q58_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3073]
2. 2 [Option ID = 3074]
3. 3 [Option ID = 3075]
4. 4 [Option ID = 3076]

59)

.’[Jf).i; is of :
) fo-z’_.t"%.‘(?/r‘?
. By g,
® el Ry
© oAl
e 5
D) LBEUIZ s S ST E17 00
P 3
® elby 2y
Choose the correct answer from the options given below :

1y (A). (B) and (E) only (2)  (B). (C). (D) and (E) only
(3)  (A). (B), (C) and (D) only (4 (C). (D) and (E) only

[Question ID = 770][Question Description = Q59_Persian_42_SHAAN_20NOV_S1_Shift1]

A W N -

60)

1 [Option ID = 3077]
2 [Option ID = 3078]
3 [Option ID = 3079]
4 [Option ID = 3080]

6';}"{‘“ :
@  AOIFE bl IF S S A
B BN L) bl
(C) c.u"i:ﬁanbeflﬁs..’:aprlaj-g;u

& "
© 2SN E
(E) Jj/;uc.wl,-d,)ilﬂ;wf;-yr

Choose the correct answer from the options given below :
(1) (A). (B). (C) and (E) only (2)  (A). (B). (D) and (E) only
(3  (C). (D) and (E) only (4) (D) and (E) only



[Question ID = 771][Question Description = Q60_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3081]
2. 2 [Option ID = 3082]
3. 3 [Option ID = 3083]
4. 4 [Option ID = 3084]

61)

Gasat b

(A) a.:-wl'j F ..'dj

® el

(©) c»/iu'bﬁéi- L"ff:?.jb!/

O eAEs TR bl et

® el L%&B%x.;,lfr-r 7

Choose the correct answer from the options given below :

(1)  (A). (D) and (E) only (2)  (A). (B). (C) and (E) only
(3)  (B). (D) and (E) only (4) (C). (D) and (E) only

[Question ID = 772][Question Description = Q61_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3085]
2. 2 [Option ID = 3086]
3. 3 [Option ID = 3087]
4. 4 [Option ID = 3088]

62)

The Sufi of India who visited Qoniya and met L;};L‘):.,Jldﬂg Ll ¥ was -
A L.g e~

® 2 L /-f’

© 0

(D) &&LJ/‘:’E .'rL':L_? s

Choose the most appropriate answer from the options given below :

(1) (A)and (B) only (2) (C)only
(3)  (B)only (4 (D) only

[Question ID = 773][Question Description = Q62_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3089]
2. 2 [Option ID = 3090]
3. 3 [Option ID = 3091]
4. 4 [Option ID = 3092]

63)

Masnaviyat of LBL'.!KLE { s l}:’ are :

@ sl (Jw F



® 9l P sse?
(€) .:M‘Jc;gw;w

@) b ﬁi.ﬂi:dl,f-;!;!]rﬂ};

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (D) and (A) only

[Question ID = 774][Question Description = Q63_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3093]
2. 2 [Option ID = 3094]
3. 3 [Option ID = 3095]
4. 4 [Option ID = 3096]

64)

L1 & 11 2T e s ooours in-
(4) ;_;JL“fg

® b

© ¢ wdrﬁ r

o FId i

Choose the most appropriate answer from the options given below :
(1) (B) and (D) only (2) (B) and (C) only
(3) (A and (C) only (4) (C) and (D) only

[Question ID = 775][Question Description = Q64_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3097]
2. 2 [Option ID = 3098]
3. 3 [Option ID = 3099]
4. 4 [Option ID = 3100]

65)

The contents of J|.7 I/l ';ﬁ; of (j[g has been taken from :
(A) l'fJ_,J}..:V;'

® AU F

(C) ;I;U!dﬁ/

|
(D) JJ}L;J!’-

Choose the most appropriate answer from the options given below :

(1)  (B)and (C) only (2) (A) and (B) only



(3) (C) and (D) only (4) (D) and (A) only

[Question ID = 776][Question Description = Q65_Persian_42_SHAAN_20NOV_S1_Shift1]

AW N =

1 [Option ID = 3101]

2 [Option ID = 3102]

3 [Option ID = 3103]

4 [Option ID = 3104]

66) . . .
Match List T with List IT :
ListI List IT
@  FUF o oz§s
= P

(B) uﬁjuc an ¢ # _ﬁ}.’
© i I ezlaDle
© Al av Lzl

Choose the correct answer from the options given below :
(1)  (A-dID. B)-(D, (C)-IV). D)D)
2) (A)-ID, B)-D. (O)-(IV). (D)-(I1I)
(3  (A-D. (B)-(IID. (C)-(I). (D)-(IV)
4  (A)-Av). (B)-(D. (C)-(II). (D)-(II)

[Question ID = 777][Question Description = Q66_Persian_42_SHAAN_20NOV_S1_Shift1]

1. 1 [Option ID = 3105]
2. 2 [Option ID = 3106]
3. 3 [Option ID = 3107]
4. 4 [Option ID = 3108]
87) Match List I with List IT :
ListI List IT
@ A o LA
B sl lfl".'f/:U‘ (ID) 6;!@&;—»’5
© Qb s am Jbo bos

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(III), (C)-(ID. (D)-IV)

2  @-@. B)-ID), (C)-11LD). (D)-(IV)

(3  A-ID. (B)-D. (C)-d1LI). (D)-IV)

4 (A)-av), B)-D. (O)-1D). (D)-(I1D)
[Question ID = 778][Question Description = Q67_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3109]
2 [Option ID = 3110]

3 [Option ID = 3111]
4 [Option ID = 3112]

A w N =

68
) Match List I with List IT :

List I List IT



(A)

(B)

©

D)

A LTICA P

=y {an EJUJL:P"B/EU’
Ok |"-L.5 am B /fﬁf/-*»;
L W) e P sk

Choose the correct answer from the options given below :

@™
@)
3
@

(A)-(D). (B)-(I), (C)-(III). (D)-(IV)
(A)-(D). (B)-(II), (O)-(IV). (D)-(IID)
(A)-(D). (B)-(D), (C)-(I1D). (D)-(IV)
(A)-(IV). (B)-(D. (C)-(II). (D)-(11L)

[Question ID = 779][Question Description = Q68_Persian_42_SHAAN_20NOV_S1_Shift1]

A w N =

69)

1 [Option ID = 3113]
. 2 [Option ID = 3114]
3 [Option ID = 3115]
4 [Option ID = 3116]

Mateh List I with List IT :

(&)

(B)

(€

(D)

List I List IT
Ot o LS
J B‘db_/-;" an 7

S it am
JeELK avy g

Choose the correct answer from the options given below :

(1)
2)
(3)
(4)

(A)-(I). (B)-(IV). (C)-(ID). (D)-(I1D)
(A)-(ID). (B)-(I). (C)-IV). (D)-(I1I)
(A)-(D). (B)-a1D, (C)-IV). (D)-(ID)
(A)-(I). (B)-(1), (C)-(I1D), (D)-(IV)

[Question ID = 780][Question Description = Q69_Persian_42_SHAAN_20NOV_S1_Shift1]

A WN -

70)

1 [Option ID = 3117]
2 [Option ID = 3118]
3 [Option ID = 3119]
4 [Option ID = 3120]

Match List I with List IT :

(A)

(B)

(&)

ListI List IT
S sl M yhsle
Ei m <
ErFl am glag

R gmsn e hl,.ub...H.i.?,..u'?vf



W WY Iy

V) DA Jaliy Al ¥l 4

Choose the correct answer from the options given below :

(1)  (A-D. B)-AD. (C)-1V). (D)-(I1D)
(2)  (A)-D. (B)-IID), (C)-I1). (D)-IV)
(3  (A)-D. (B)-AI). (C)-11I). (D)-IV)
4 A-ID. B)-IAV). (C)-(1). (D)-(IID)

[Question ID = 781][Question Description = Q70_Persian_42_SHAAN_20NOV_S1_Shift1]

1. 1 [Option ID = 3121]
2. 2 [Option ID = 3122]
3. 3 [Option ID = 3123]
4. 4 [Option ID = 3124]
71) ; e
Match List I with List IT :
ListI
@ £k
B)
(O
D)

List IT
@ ¢zl
(D) L;H;‘-Jl

am OB

) ULk

Choose the correct answer from the options given below :

1 (A-D. B)-IID, (C)-(I). (D)-IV)

2)  (A-D, B)-D. (©)-IV). (D)-(I1L)
(3 (A-dID. (B)-(IV), (O)-aI). (D)-(D
4)  (A)-0D. B)-(IV), (C)-(I1I), (D)~

[Question ID = 782][Question Description = Q71_Persian_42_SHAAN_20NOV_S1_Shift1]

1 [Option ID = 3125]
2 [Option ID = 3126]
3 [Option ID = 3127]
4 [Option ID = 3128]

A W N -

72
) Match List T with Last IT :

ListI
@ Gl
® JiS-¢
© ¢ ;,!;J’ A

O Sy

List IT

(I} Classical Persian Literature
w Sbot7iEbE
(I11) ;,;U}éd

(IV) A Literary History of Persia

Choose the correct answer from the options given below :

1) A-O. (B)-1D. (O)-ID. (D)-aAV)
2 (A-@D. (B)-AV). (C)-(1). (D)-II)
(3 (@-AV). (B)-(). (C)-(1I). (D)-ID)
@  @-O. B)-AV). (C)-dD). (D)-(I1L)

[Question ID = 783][Question Description = Q72_Persian_42_SHAAN_20NOV_S1_Shift1]



A W N -

73)

[Question ID = 784][Question Description = Q73_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3133]
2 [Option ID = 3134]
3 [Option ID = 3135]
4 [Option ID = 3136]

A w N =

74)

[Question ID = 785][Question Description = Q74_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3137]
2 [Option ID = 3138]
3 [Option ID = 3139]
4 [Option ID = 3140]

AN wN -

75)

1 [Option ID = 3129]
2 [Option ID = 3130]
3 [Option ID = 3131]
4 [Option ID = 3132]

Match List T with List IT :

D)

List I
SE
dbd‘{;ﬂ.’m
&1 23sF

Al

(1D Imbﬂf(ilr

(1) ifi' o1

N

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(II), (B)-(T). (C)-aOV). (D)-(III)
(A)-(D, (B)-D). (C)-(IID). (D)-(IV)
(A)-(10). (B)-@). (C)-I). (D)-IV)
(A)-AV), (B)-(D). (C)-D). (D)-(I1I)

Match List T with Last IT :

(A)

(B)

(©

(D)

List I
Gt e
Sl
Sk

s

List IT
o T
an 27
am .45

@) sl

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(D), (B)-AD). (C)-d1ID). (D)-(IV)
(A)-(I1D), (B)-(II). (C)-@). (D)-(IV)
(A)-(D). (B)-AV). (C)-(ID). (D)-(I1I)
(A)-aD. (B)-(D), (C)-1I), (D)-(IV)

Match List T with List IT :

(A)

ListI

vl

List IT

@ gL/



B Al an ¥l

(C) am SuedJie

- }V:f:!’
(D) J:;.ﬁ}j av) &Lu’/dﬁl::’

Choose the correct answer from the options given below :
(1) (A-D. B)-IID, (C)-ID). (D)-IV)
2)  (A-D. B)-ID. (C)-(II), (D)-IV)
(3)  (A-aD. (B)-(D). (O)-(ID), (D)-(IV)
@ A0, B®-IID, (C)-aAV). (D)-aD

[Question ID = 786][Question Description = Q75_Persian_42_SHAAN_20NOV_S1_Shift1]

A wWw N =

76)

1 [Option ID = 3141]
2 [Option ID = 3142]
3 [Option ID = 3143]
. 4 [Option ID = 3144]

Arrange chronologically :

(A) J_;'llﬁi _sp e
® =2
© -k

@  &FA-JB

(E) qf,{,fﬁ,-:bfdb&dj!@lf

Choose the correct answer from the options given below :
1)  A. B, (). D). (E) (2) (B). (A). (D). (C). (E)
3  (E). @B, ©). D). A (4) (). (B). (E). (C), (D)

[Question ID = 787][Question Description = Q76_Persian_42_SHAAN_20NOV_S1_Shift1]

AW N =

77)

1 [Option ID = 3145]
2 [Option ID = 3146]
3 [Option ID = 3147]
. 4 [Option ID = 3148]

Arrange the following chronologically as per their period of life :
@ ST E

(B) ._ﬁ 2L

(©) ..{./LA"’b o3

o b

(E) lr'ndf.’ fi



Choose the correct answer from the options given below :
1) @A. B (). D), (E) (2 (B). (A). (C). (E). D)
(3) (A). (C). (E). (B). (D) (4 (D). (A). (E). (B), (C)

[Question ID = 788][Question Description = Q77_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3149]
2 [Option ID = 3150]
3 [Option ID = 3151]
4 [Option ID = 3152]

A w N =

7 : : : : g
8) Arrange the following chronologically as per their period of life :

@A

(B) L'BLJ/{_SKI?
© 28k
® S A

(E) GL‘WI;V

Choose the correct answer from the options given below :
(1 D). (C). (B). (A). (E) 2) A B). (C). D). (E)
(3)  (A). (O, B). (E). D) 4) (A). (D). B). (C). (E)

[Question ID = 789][Question Description = Q78_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3153]
2 [Option ID = 3154]
3 [Option ID = 3155]
. 4 [Option ID = 3156]

A wWN =

79) Arrange chronologically :

(A) LE,.:‘,JJT
® 6HaSi

© obila
@ ball

(E) LE_/,-,z‘llc:#Lﬁ!}

Choose the correct answer from the options given below :
(1) (A). (C), (B). (D). (E) 2 A, B). (C). (E). (D)
(3)  @). 3. E). D). (C) 4 (A). B). D). (). E)

[Question ID = 790][Question Description = Q79_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3157]
2 [Option ID = 3158]
3 [Option ID = 3159]
. 4 [Option ID = 3160]

A wWN =



80)

Arrange the following chronologically as per their period of life :

@ Sl 217
® Oob
© Z1e

@ Jbr bl

® s

Choose the correct answer from the options given below :

1 (A, (). (B). D), (E) (2) A). B, (O). (D). (E)
(3  (E). D). (C). B), (A) (4) (D). (C). (A), (B), (E)

[Question ID = 791][Question Description = Q80_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3161]
2. 2 [Option ID = 3162]
3. 3 [Option ID = 3163]
4. 4 [Option ID = 3164]

81)

Arrange the following chronologically as per their period of life :

@ ELg s

(B) ;}fclus_,q&

(©) (_5:5;?:/
(D) 5;5&J

(E) dﬁf:[‘flﬂ'i,ﬂ

Choose the correct answer from the options given below :
1 A). @B, (O). D). (E) @) (B). (A). (C). (E). (D)
(3) (A). (C). (B). (D). (E) (4 (B). (A). (D). (E). (C)

[Question ID = 792][Question Description = Q81_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3165]
2. 2 [Option ID = 3166]
3. 3 [Option ID = 3167]
4. 4 [Option ID = 3168]

82)

Arrange chronologically :

» & ® 0L
© SR @

Choose the correct answer from the options given below :

(13 (AY. (B, (C). (I (2 (A (C). (. (B)



(3) (A). (C). (B). (D) 4 (D). @A), B.(©)
[Question ID = 793][Question Description = Q82_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3169]

2. 2 [Option ID = 3170]

3. 3 [Option ID = 3171]
4. 4 [Option ID = 3172]

83) Arrange the following chronologically as per their period of life :
@ Ol ®) | ST
© O o Eil2Jles

Choose the correct answer from the options given below :
(1) (A (B). (©). (D) (2) (B). (0. (D). (A)
(3) (A). (D). (B). (C) 4) (B), Q). (C). (D)

[Question ID = 794][Question Description = Q83_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3173]
2. 2 [Option ID = 3174]
3. 3 [Option ID = 3175]
4. 4 [Option ID = 3176]

84) Arrange the following chronologically as per their period of life :
o = = -
(A) JJ: Jf (B) _/C}.'J{ e
(C) L.:’.JLL‘:E' (D) J.’I/éh‘l

Choose the correct answer from the options given below :
(1)  (&). (B (C). (D) 2) (A, (B). (D). (C)
(3) (A). (C), (B). (D) 4) (A, D). ®B).(C)

[Question ID = 795][Question Description = Q84_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3177]
2. 2 [Option ID = 3178]
3. 3 [Option ID = 3179]
4. 4 [Option ID = 3180]

85 .
) Arrange chronologically :

@ O ® 6}
(©) GE[& @) s

Choose the correct answer from the options given below :
(1)  (A). B®. (). D) 2) A). (0. ®. D
(3) (A). (D). (C). (B) 4 A, D). ®. (O

[Question ID = 796][Question Description = Q85_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3181]



2. 2 [Option ID = 3182]
3. 3 [Option ID = 3183]
4. 4 [Option ID = 3184]

86) Given below are two statements : one 1s labelled as Assertion A and the other is

labelled as Reason R

Assertion A a*_@}fd_,dlftﬁ,gi.?‘g/{_f:?:dft/

Reason R : MJ,JCIJ;d_Jfﬁ_“Jéé/dJL}{j/j

In the light of the above statements, choose the correct answer from the options

given below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s the Not the correct explanation of A
(3) A 1s true but R 1s false
(4) A 1s false but R 1s true
[Question ID = 797][Question Description = Q86_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3185]
2. 2 [Option ID = 3186]

3. 3 [Option ID = 3187]
4. 4 [Option ID = 3188]

87 : ; . ;
) Given below are two statements : one 1s labelled as Assertion A and the other 1s

labelled as Reason R

Assertion A ﬁ&;JLT/f’JJLﬁJifE&/”

. & . ./
Reason R . Eesst TJIJJ!:Z}.:.;)/J) 2203 3l

In the light of the above statements. choose the correct answer from the options

given below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R is the Not the correct explanation of A
(3) A 1s true but R is false

(4) A is falze but R 1s true

[Question ID = 798][Question Description = Q87_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3189]
2. 2 [Option ID = 3190]
3. 3 [Option ID = 3191]
4. 4 [Option ID = 3192]

88) Given below are two statements : one 1s labelled as Assertion A and the other is

labelled as Reason R

Assertion A a.:.a-'iajfj;U"‘Jﬁff,’,f/"{‘kfbb}fj;L-;jfs.ﬁf.;b



Reason R 2 Wf;fﬁi{fﬁ:ﬂkﬂfﬂ I b)[ﬁ;&}i

In the light of the above statements. choose the correct answer from the options

given below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s Not the correct explanation of A
(3) A is true but R is false
(4) A is false but R 1= true
[Question ID = 799][Question Description = Q88_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3193]
2. 2 [Option ID = 3194]

3. 3 [Option ID = 3195]
4. 4 [Option ID = 3196]

89
) Given below are two statements : one 1s labelled as Assertion A and the other 1s

labelled as Reason R

g g e w2
AssertionA : <A (0ls ;[f_;'{_s:f;,ezldzll.&bf@ﬂ{

[

&
-
#

Reason R : wf:ﬁ::;iﬂﬁ”!aﬁfdgl Y IQE'U"!:;

In the light of the above statements. choose the correct answer from the options

glven below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is the Not the correct explanation of A
(3) A 1s true but R is false

(4) A 1s false but R 1s true

[Question ID = 800][Question Description = Q89_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3197]
2. 2 [Option ID = 3198]
3. 3 [Option ID = 3199]
4. 4 [Option ID = 3200]

90 . . . .
) Given below are two statements : one 1s labelled as Assertion A and the other 1s

labelled as Reason R

Assertion A : & (_‘,:).LJ J/f‘;_/_-,"ﬂdj ”{ﬁg.k;}ﬁ_)dlj':.wa;ﬁ”

Reason R = &fyﬁid,,dilr‘ujqfﬁ?d;uﬂ
In the light of the above statements, choose the correct answer from the options

given below :

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s the Not the correct explanation of A



(3) A 1s true but R 1s false

(4) A 1s false but R 1s true

[Question ID = 801][Question Description = Q90_Persian_42_SHAAN_20NOV_S1_Shift1]
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1 [Option ID = 3201]
2 [Option ID = 3202]
3 [Option ID = 3203]
4 [Option ID = 3204]

Topic:- 42PERSIAN_B

1)

Read the following Passage and answer the Question
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[Question ID = 802][Question Description = Q91_Persian_42_SHAAN_20NOV_S1_Shift1]
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2)

1 [Option ID = 3205]
2 [Option ID = 3206]
3 [Option ID = 3207]
4 [Option ID = 3208]

Read the following Passage and answer the Question :
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[Question ID = 803][Question Description = Q92_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3209]
2 [Option ID = 3210]
3 [Option ID = 3211]
4 [Option ID = 3212]
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3 . P
) Read the following Passage and answer the Question :
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[Question ID = 804][Question Description = Q93_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3213]



2. 2 [Option ID = 3214]
3. 3 [Option ID = 3215]
4. 4 [Option ID = 3216]

4)

Read the following Passage and answer the Question
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[Question ID = 805][Question Description = Q94_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3217]
2. 2 [Option ID = 3218]
3. 3 [Option ID = 3219]
4. 4 [Option ID = 3220]

5)

Read the following Passage and answer the Question :
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[Question ID = 806][Question Description = Q95_Persian_42_SHAAN_20NOV_S1_Shift1]
. 1 [Option ID = 3221]
2 [Option ID = 3222]
3 [Option ID = 3223]
4 [Option ID = 3224]
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Topic:- 42PERSIAN_C

1)

Read the following Passage and answer the Question :
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[Question ID = 807][Question Description = Q96_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3225]
2 [Option ID = 3226]
3 [Option ID = 3227]
4 [Option ID = 3228]
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2)
Read the following Passage and answer the Question :
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[Question ID = 808][Question Description = Q97_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3229]
2. 2 [Option ID = 3230]
3. 3 [Option ID = 3231]
4. 4 [Option ID = 3232]

3)

Read the following Passage and answer the Question :
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[Question ID = 809][Question Description = Q98_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3233]
2. 2 [Option ID = 3234]
3. 3 [Option ID = 3235]
4. 4 [Option ID = 3236]

4)

(1)

(3)

Read the following Passage and answer the Question :
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[Question ID = 810][Question Description = Q99_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3237]
2. 2 [Option ID = 3238]
3. 3 [Option ID = 3239]
4. 4 [Option ID = 3240]

3)
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[Question ID = 811][Question Description = Q100_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3241]
2. 2 [Option ID = 3242]
3. 3 [Option ID = 3243]
4. 4 [Option ID = 3244]

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:92
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fr
Others (OT) 6% *h

frafafes aifes = fa=m $ifse f5om o 57 5o ad | 9w = fafim & & e & s =1 afam
(%) Taemor qon geu-ufEen HEeE SO SEE T 2| W & % Fel wEwe H ged 80w B
ATt § T2 U SATHS] % YW 9 yvT % 391 alAu)

A % FEEE F1 EFan G

ufeera (%) foewor | geg-nfzen squ@a ( §: 0 )
a1 (TE 3) 15% i
Ty (ug ) 12% 5:3
fomto i argeemn (o ) 9% 5:4




mHEeEE (i ) 18% 5:7
auF (UH 1) 21% 3:4
Ieared 3R ufEea (d &) 19% 58
a7 (=1 ) 6% 4.8

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Tt &1 i e gy FEee i IfiEd e #4027 (9Eed & 3 9 9F)

(1) 6.39 W@ (2) 4.69 @@

(3) 5.96 @G (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrmbution M:F)
Service (SE) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% H:4
Profezzional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 3:5

fAfafias aife w0 fomm fifsw fom oF 52 5w ad § oem & f&fem &9 8 ave % Feee # faea
(%) faemor Qo geg-ufeen wEEe wquE g9 T 2| '@l &6 % Per wEed H @ed 80 @ng
Alfer=hl ® T2 710 377 = YR W UvH = S g1ty

afaea (%) e | I-afeen @ gaa ( 707 )
= (uE ©) 15% 3:2
HE (T T) 12% H:3
Fmior 3fft sream (d o) 9% 5:4
TrFTEe () 18% 5:1
auF (UH T) 21% 3:4
Feara AR i (d #) 19% 5:3
=7 (=1 &) 6% 3156

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%



(3) 320%  (4) 80%
TH 3 AN f TE & § F gfae wEE # Fo ST ®@ TR &9 § FwERG T8 e S
":fai AT TId=Td %?

(1)  330% (2) 318%
(3)  320% (4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrmbution M:F)
Service (SE) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% H:4
Profezzional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 3:5

FfatE e W fa=m fifsw 5o o 57 50 99 1 oW % f5fim g § 9ne F e w5 ot
(%) femmo @1 gEu-fEen wee wqaE Zmen T 2| @ S % B Seee F e 80 @ 2|
Alfer=hl ® T2 710 377 = YR W UvH = S g1ty

e (%) foreor | geu-izen @ged (g9 )
= (uE ©) 15% 3:2
HE (T T) 12% H:3
Fmior 3fft sream (d o) 9% 5:4
TrFTEe () 18% 5:7
auF (UH 1) 21% 3:4
IearE AR feE (d #) 19% h:8
=7 (=1 &) 6% 3156

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH U AR TR U & H FEd 95 wEea F Fe wed 0 A @9 7 H wread f G G w5 e
oA afaea 27

(1) 82% (2) 87%
(3) 39% (4) 85%



[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (S8A) 12% B 3
Construction and Maintenance (M) 9% bh:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5 G
Others (OT) 6% 3D

frafafes aifes = fa=m fifse 5o o 57 5o ad | om = fafim & & e & s =1 afam
(%) Taemor qun geu-ufeen e S SEE T 2| W & % Pl wEwd H ged 80 w2
ATt § T2 U SATHS] % YW T YT % 391 alrAu)

WA % FEEE F1 EFan G

wfeore (%) T | geq-wfeen wigam (309 )
Fa (TE 3) 15% i
Ted (TE ) 12% 5:3
fomto it srgeem (o ) 9% 5:4
TrpeEe (d #w) 18% 517
TaYT (T T) 21% 3:4
Seareq A ufEE (4 19% 5:3
W= (=7 7) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

UH U 3R UH U HE ° WG Gieen e i Fel S S 0 F A9 4 e wieen FEee i we #w5

(1) s5.17m@ (2) 7.5m3

(3) 5.7 (4) 13.2 @3

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1 [Option ID = 8037]
2 [Option ID = 8038]
3 [Option ID = 8039]
4 [Option ID = 8040]

AW N =

5) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given



vear. Total workforce in all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% *h

frafafaa aifer w fomm fifsw e o 22 5w ad § oem & fafem &6t 8@ awe F wrfee # faa
(%) faemor @ gea-ufeen wEee wquE g9 T 2| '@l & % Per Heed H GEd 80 @
ATeTRT § T4 U SATRS] F YW W UTT F I A

wierore (%) fereeor | ge-ufeen wgE (709 )
a1 (uF ) 15% 39
e (TE ) 12% 5:3
famior afft sz (i uw) 9% 5:4
mHeEE (i Hw) 18% 5: 7
a9ET (U ) 21% 3:4
Feure AR i (d ) 19% 553
3= (=11 ) 6% 8:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 :39 (2)16: 37

(3)16:35 (4)16: 39

ot w9 &7 § FEET aiEen FEwa H T R W AR vd o F A § FE wm FEea B g w5

ST TR Y
(1) 17:39 (2) 16:37
(3) 16: 35 4 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1 [Option ID = 8041]
2 [Option ID = 8042]
3 [Option ID = 8043]
4 [Option ID = 8044]

AN wnN -

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

HEATA % om0 © g S FER A gEe B 9 e AR I S e Wi Wl 2 7

(1) =@ = (2) FrEE T

(3) T =T (4) EET TFEE T



[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8045]
2.2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

Ffafad Fa Gty e aaaa f g1 & T sweas wad fafim wat @ 9 f=fwa

T 2| 3% 90 SraEn SEd fi auar #) 3 ¥ F d auan SrEen s % s w27

(A)  sTeA-aa (dme)

(B) e

(D)  ==mEY

(E)  Awiman

= fau o fasew § | wEl 39 w1 =9 FifAw

(1) (A) 3 (B)
(2 (B) ()
(3) (D) ¥ (E)
(4)  (B) = (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (l) Using Swayam and Moocs

(B) Open and distance learning method (Il) Programmed instructional packages

(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion



Choose the correct answer from the option given below :
(1) (A)-(D, (B)-(I1), (C)-(IN), (D)-(IV)
(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(1)
(3) (A)-(1V), (B)-(lI), (C)-(I1), (D)-(1)
(4) (A)-(In), (B)-(), (C)-(1V), (D)-(1N)

-1 % mry G-I =1 foam ifse) g1 8 3=3 wifimm g § foam i ffam & 02 2, 5=t g3
11 4 wfrm fafe 1 vyEeiaa g H a5 4 7 2

il et 11

foregor =it fateen T AT FEH i AFAE
(A) - hi SAdiseATea faTH (I) =599 31 q38 F1 7=
(B) T 1R gt st fafg (II) st Aemmens e
(C) Toregm =i i fata (IIT) Hisger AI2amen= aras
(D) oz it iy fafa (IV) ufe=r= = ang-any T uo

= f2u mm fawed § § 98 I w1 =ma A

(1) (A)-D. (B)-AI), (O)-(II), (D)-(IV)
2 (A)-IID, B)-AV). (C)-(1). D)-1I)
3 (A)-AV). B)-(IID). (C)-AD. D)-O)
@) (A)-ID. B)-@). (O)-IV). (D)-(I11)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (I) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (ll) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (l) and Statement (Il) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

= 31 e fau o E
Fed () : Ited A SAfEEar wE B WS % §E S IR aEar Y S deEn
Fo (11) : FEGE SAREed TOET 3T wEdE Shaes wWiE st & & =Een F e

AT 7 % TEEE W AE e 2
W FUA AT |, 4= 70 0 e 8 6 weE 39T 3 6 =9 S
(1) = (I) 5 (I1) 341 =27 7
2) = (D) 3 (1) 341 T 2

(3) = (D) = 2, s w5 (1) TeE R

(4) =9 (1) Tod 2, w3 = (1D 71 7



[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

F= =1 wue fou w B vw wfaE9 (Assertion A) F ®9 ¥ fofgd & A LR 3u% F0 (Reason R)
ERR

wfiEpe (A) o A anygfree sfi g @ A smaE geEE gl = Al s st i
F1 T2A9 FAA 2|

FW (R) : foredt wurht foreror memar wonedt = At afifEata d gaw F @y w@g e S
=tET|

I HYH & W °, 4 2 e el | 9 gd 3 o 999 it

(1)  (A) 31 (R) 3H1 Te9 & 21T (R), (A) 1 et =g 2
(2)  (A) Fi(R) 3T Te7 &, wiA (R), (A) Ft oel =g == 2
(3) (A @™ 2, #@5 (R) 3739 2|

4)  (A) 3@ 2, A (R) 77 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

TrE TR % T H UiEET-uies = ueEitEd e S E v

(1) et g (2) fETfaE
(3)  =AEETEE WY (4) TETEEE Ty

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of

research?

(A) Descriptive method
(B) Experimental method
(C) Ex Post Facto method
(D) Historical method

(E) Exegetical method
Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

e e foet wfeorta o b sifegfe 71 ofe % w0 A A 2, i A et 3§ 3 e e

= TIE TR 2 7



() T

(B)  wEITIeR= g

(C) =R &t
(D) =T &y

(E) =& fama

= fou o fameal # § wE 3T w1 == it

(1)  (A) 1 (B)
(2) (B =R (C)
(3)  (C) 3w (D)
4 (D) & (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(1V), (C)-(I), (D)-(1)

(2) (A)-(), (B)-(1), (C)-(lN), (D)-(1V)

(3) (A)-(In), (B)-(l1), (C)-(1), (D)-(IV)

(4) (A)-(I, (B)-(1), (C)-(I), (D)-(1V)

-1 = w19 g=-11 1 fiem Fifae) g=t-1 8 w9 & =20 950 2, @06 got-10§ 9 g 9gw T E

7=fi-1 T=h-11
Y = = T H AT AT A
(A)  =EE g (I)  =TFRS! =1 BRI 31 6 T
(B) ufmewn fmim (I1) == Te T2 & 3HEA1 H 0
(C) wiF==a ufF =1 =93 (III) =M= % &% 9 g7 799 23
(D) @TeT fagem (IV) =119 % =01 & a9 g9y Tud F70

i f3u o famedt | | wé 3 w1 =g Hif

1) (A)-ID. B)-AV). (C)-(ID). (D)-D)
2 (A)-D. (B)-AD. (C)-IID. (D)-AV)
(3)  (A)-AD. B)-ID. (C)-@). (D)-AV)
4 (A)-D. B)-D. (O)-aI). (D)-IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements
Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research



article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement () is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

F= 21 =y fRe T -

w1 (D) : U WE-TEE T WY -UT H oigd Hi HEHA % ey AR U] % si" i Sqr T8
Fo (II) ot wEdt s wR 3 ST w4t e * o afEe 2

IR HUA % AT °, A 3 e el | 5 wE 3 F 99 i

(1) =y (I) W (1) 241 & 3|
(2) = (1) 31 (1) 3T w7@ed 3
(3)  =ua (1) ucd 2, =i e (1) 3150 2

(4) = (1) 99 7, witwa waa (1D 909 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 2 =y fow v # ;v Ay (Assertion A) % =9 ¥ foifiga & 4 ZE 3@+ #19 (Reason R)
ER= k-1

ATERYE (A) et wg aferewn (Hy) =1 Feerofie afmesn (Ho) =h @emear o qhEm B s

=iE|
F0 (R) : ity afewer (Hy) $ adats $1 s1fiafe da =0 3 78 F 1 g2 2

TUE YA & A °, = 2 e famen § 8 wey ugs I 6 99 i

1) (A) I R) IA HE 7 G (R). (A) F T ==

(@) (A) AR R) IA FE 7, = (R). (A) F HE == T G
(3) (A = 2, @i (R) g A9 2

4) (A wE E R, = (R) TR

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]



11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

AT UH TiTe Tedsh av U8 UE feaw fetatad § 9 et w e e 7
(1) 30 S (2) 30%g
(3) 15 I (4) 15 Fa==%

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

| FmmTT 1 od-faeE (S) "Let truth prevail” #7

(1) 13 =2ema (2) =TETH SIF SrEAT
(3 ff=m (4) =fg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 31 =y 2w U E ;v wiEU (Assertion A) % T H fafima 2 @ ELaL 3% FA0 (Reason R)

wfm (8):  afE TER (STeweE) Suarge wfw wafee o S e 2, w9 dffen
61 T9E W TEE w9 °Z @ 2

FT7 (R) : SeeE TERY (S difea W AsEi 2 i e v 2
I FYT F A A, 49 70 e § 8 g9y 3w S5 R =9 Fifan

(1) (A) 377 (R) M1 T8 2 370 R). (A) F1 w2 =m0 2|

(2) (A 3 (R) 3AT = 2, = (R). (A) i 9 =men 99 2
(3) (A WA 7, W (R) 78 4 2

(4) (A =E TE R, @l (R) =E 2

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.

(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.



Choose the most appropriate answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (D) only

SHEER % 9 &7 £g MUFHl U AqEdies (50 Tw | UF URiE s a wrast afed 5u7
(A) o fame fafaEt #i aga i g@e w2 F o

(B) =3 T Fafba] 9 & o9 UE 21 % o)

(C) a7t & foven qone =1 &1 924 & o)

(D) == gmon 5= * fore o difsan = weme wam Hifes 7 )

T fou o faewi ® @ weE U I 1 = A0
(1)  =Ha= (A) 3117 (B)
(2) =& (B) #(C)
(3)  FF¥ (C) 3 (D)
(4) &= (A) 3 (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

i &t € g § I mEmw i mEEeE aene wi At fif)

(A) TR
(B)  oTgwaa
(C) TIwE
(D) o=

(E) = =1 9 541

4 fou u faweTl § O 9E1 I W 999 Hia

(1) &= (A), (B) 3 (C)
(2)  Faa (B). (C) 371 (D)

(3) e (C), (D) 37 (E)



(4)  Fae (A), (C) 211 (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

U 94 % S UF UHER W A o1 o0g S 3 BEEl | 4000 9, 36 AT 4 HEAl § 4500 T
# #Afm 5w #5000 T A1) I =W AW F A FA w=4 5000 T A A 3@ qfEwR A ostEn
T 24 TehaAT o7

(1) 3000/~ == (2) 4000/- w

(3)  5000/- =5 (4) 6000/ =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 ® 90 * s # B AT "Eme = AEd 9an -

1) 765 (2) 08.25
(3)  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% =R 33 T 39 g9 W 11 e g9 W fawa gem % sve @ Afdq Far 8| Gfowa #§ @

ELLLEES

1) 25% (2)  50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3)5% (4)7.2%

72 feft 72g 1 =7Ta gog =E fawa geg = 95% ® °t =y i afdwEar = et

(1) 4.26% (2) 5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]



1 [Option ID = 8117]
2 [Option ID = 8118]
3 [Option ID = 8119]
4 [Option ID = 8120]

A W N -

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?
(1) Rs. 1,600/- (2) Rs. 2,000/-
(3) Rs. 2,080/- (4) Rs. 1,560/-
afz s =afw et aeq #1 25% vfawa #2149 @ 39 1200/ - 04 § &=a1 2 A1 30% = " FAE F

fou 3@ 2@ awg =t fem Fma w s= =T e

(1)  1600/- =94 (2) 2000/- =53
(3)  2080/- =w (4) 1560/- =

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

T WAATE ZEAIE B 9 w0 Hefeated 8§ w9 9 e 95 w9 9wy oueEa w®
eI 27

(1)  =79mr (2) AN
(3) ELUIE] (4) :ﬂgqﬁ%'%’x

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

A TRIITE o FTEN ST T W W ST o HEl e R

(A)  ToEms fawm @ g i wHEa/oEsar # YA (3999)
(B) WO = w0 (%G)
(C)  sAfgamon i fagdt = =v d gfz (o)

(D) Afqgron =1 %o (wfa)

(E) Tafes fmm =1 sgmm 24 (3gmmn)

H= fom o famedt © @ @E 3 w1 =9e Fifm

(1) (D). (E). (A). (C). (B)



(2) (D), (C), (B). (A), (E)

(3) (D), (B). (E). (A), (C)

4) (D), (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schoolz of Classical Indian Philozophy reduce Sabda pramana

(verbal authority) to inference?
(A) Navava

(B) Vaiéesikas

() Buddhists

(D) Mimﬁmsﬁ

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
(4) (A}, (D) and (E) only

T A 2R i R A -H A0S W5 T S SEAE % S ol 2 7

(A) =M
(B) dsifg=
€ g
(D)  mEn

(E)  =mar/«rmmEa

A fou U kel | § @Rl 3T 1 =E i

(1)  =a= (B) &1 (0)
(2)  %a= (B). (C) #TR (E)
(3) == (B) 31 (E)

(4) %= (A), (D) #1 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true



(2) Both Statement (1) and Statement (ll) are false
(3) Statement (l) is true but Statement (ll) is false
(4) Statement (l) is false but Statement (ll) is true

= 21 ey fau T R
U (D) T TS TR % AR T 0 e 0 5 H Gt w2
Fo7 (1) : difeheh W ¥% T8l Sardl & 5 =6 fm usn 8 sae S =i sfew e 18

Fardl 2 76 26 FE IFEE 9T 2

I FHUA F AT, A= 2w GEen 9 0 wE 3w = i

(1) =99 (D) =17 (1) 341 a9 2
(2) = (1) SR (ID) 241 w15 Bl
(3)  FwA (1) =3 2, Sl ®w9q (1) s 2

(4) = (1) A6 &, w99 (1) 9e 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

Tt-1 = =g g=-11 1 faem Fifsm)
-1 FhII
T F T T
(A)  sfiaren $ wefie % =9 4 g (I) =@ g = & AR AW A R EH e
|
(B) =T =T FHYH (1) wersl W 1 21
(C) fafea Fam = 3gmaw & (TIIT) AT 9818 o 3 2|
(D) wuifia 1 AT SR # FYT (V) = ==t g 7

= feu Tu faskedi ® @ wE 3w = =EA Hifo

(1) (A)-(I). (B)-(IID). (C)-(IV). (D)~(II)
(2) (A)-AV). (B)-(IID). (C)-(I). (D)-(ID)
(3) (A)-(III), (B)-(IV), (C)-(I). (D)-(II)
(4) (A)-(ID), (B)-(T). (C)-(IIL). (D)-(IV)



[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF 1S I FOEI F e Al H UH 0 Hisel % oued & WEi e 2 e = faga i mea w2 oaw
=1 fomet =AUz Aise i SUET ST 9 T SR 94 5§ #5 2)

(1) e (de) @ (2) w1 SR
(3)  witas w2 &8 s59 (4) U= S

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= aT =y T2 o ? . T WigweH (Assertion A) * =7 H farag % al ZH THFH A (Reazon R)
wHETH

ATFFE (A) Tl WETT AT RE H U SR s e =0 F gerug w5 anee)
F0 (R) T #R w90 W ATE | 5anE A8 W G |

IV FHYA = AR °, 49 50 T fameni 8 ® A8t 3 w1 =9 iAo

(1)  (A) 3 (R) 341 @3 & #R (R), (A) 1 =&l =ame 2|

(2)  (A) 37 (R) 31 &7 &, WA (R). (A) it 981 =z 75 2
(3)  (A)med 2w (R) 3790 2

(4)  (A) 39 2, @ (R) 974 21

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

T 92 W weH B A9 % w0 4 St wrm anae w8 w9 i agEe it

(A) 1500 M Bytes



(B) 5 K Bytes
(C) 1 & Bytes

(D) T Bytes

= fou U feekel 9 @ wE I 1 = i

(1) (D), (A). (©).(B)
(2) (A). (D). (C). (B)
(3) (A). (B). (C). (D)
(4 (D), (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

FEEE F TaY § AEH sy A aE-wE S gE a8, A g wed e #

F (D) AE-FTE F 9 ST B FA A 2
=9 (1) . ATE-TFTS % ATAS W e w1 AT Al A A g A ST S o weal 2|

IWIF FIA F AEF °, 9 @ 70 T § W " 39 # 95 hian

(1) =94 (I) 37 (D) 2 &3 2
(2) A (1) 307 (I1) 41 278 2
(3) = (1) = 2, @fea w9 (1) 99 2|

(4) =y (I) 8F &, wiiba #9A (1D 99 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

g1 % e g=-11 7 e Fifm)
-1 11

(Freger Trfvarfaes ws7) (vr=)



(A) OCR (I) Zfd =1 seafafiga eeaEal &1 T3 FH F
fem e & 21

(B) OMR (II)  =5-Teedta wWiena § &% 79= F + fom
(C) Email (IIT) FTEH=ToT FegHa
(D) Instant Messaging (IV) =ETe HegHa

= fou o fameal # § e 3T w1 == i

(1) (A)-(IT). (B)-(I). (C)-(IV). (D)-(III)
@) (A)-AD). (B)-). (C)-(III). (D)-(IV)
(3)  (A)-D). (B)-(D). (C)-(IT). (D)-IV)
(4) (A)-M). (B)-I), (C)-(IV). (D)-(1I)

Match List I with List IT :

List I List IT
(Computer Terms) (Purpose)
(A) OCR (! Used to scan typed or handwritten
documentsa
(B) OMR (II) Used to mark  multiple-cholce
examinations
(C) Email (TIIT) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
(1) (A)-(ID), (B)-(T). (C)-(IV). (D)-(I1T)
(2) (A)-(IT), (B)-(I), (C)-(III). (D)-(IV)
(3) (A)-(D), (B)-(II), (C)-(1II), (D)-(IV)
(4) (A)-(I), (B)-(ID), (C)-IV), (I)-(I1T)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

freafetian § & HH-31 0F AAH B AW FH AT g 27

(1) T TEAEHES (2) THYTEE F=ES

o)

(3) e SIEHATFEES (4) e

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frfarfiga & @ - 31 |9 gt S0 = =0 9@ 27
(1) s (2) = vl

3 -~

(3 FTAT 4y FEEEE



[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

frfafaa § 9 -5t ITHfa® ST9e ST agdt & R 39E S Eas | WE a8 7
(1) 5= (2) “EeEE TR
(3)  #HEMN (4) TFH

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

o

T T =i GEEE FE AieE % 52 § NMSHE Fefafad § o fhos g 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

Tretetad § 8 7 Yol 1 TaFs T9 5T & ST 1T qelag Tiadd T asa 7

(A) I SEATETES
(B) =R 924 (PMas)
(C) A=

(D) e

(E)  T5g| AFE1ES

4 f2u o fawedl © § @2 3 @ =99 FIA

(1) === (B), (C) 3t (D)
(2)  Fad (A). (B) 3R (C)
(3)  Fa= (B) (D)



(4) === (B) #HAT(C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
o T & "2d H, WA F=a9 FEeE § g e § uE uEgdE ddn 9 fHgiid e 6 e
Frfetaa | @ e wgm T /amea =i g e e

(1) 7 (2) wHi s
(3) wHEaImA (4) uaEH 3

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listll

(A) NAAC ; ; () Delhi

(B) NIEDA ; ; (II) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

TA1-1 % @ g=-11 =7 e Fifsm)
F1-1 F-11
(A) wuTH IO ==
(B) mEEIdT (1) ==
(C) wa F HAR s (IID) =E=+s
(D) Hi 2t 3w 3 AV) FETE

= fau Tu feereal | ® wWE IE 1 = i

(1) (A)-(ID), (B)-(IID), (C)-(T), (D)-(IV)
2 (A)-AD. B)-A). (C)-AV). (D)-(I1I)
3)  (A)-IID, (B)-AD). (C)-). (D)-IV)
4)  (A)IV). (B)-(IID. (C)-(II), (D)-(T)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.

(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only



(2) (A), (B), (E) only
(3) (B), (D), (E) only
(4) (A), (C), (D) only

T¢ fem Hifa (w3 £ 1)-2020 4 w3 £ # s i TorE == = A 2| o9 e e e e E2

(A) iR § s R FamEn wg AU R dEn )

(B) e =i HOFH &g WEiRTR % TEF % 5E9 § HEE % 5E SEE-TEE 59 OF 59 9eA1 A1

(C) =i g T w1 seE 35 °§ gEea wg ssardt et = ot )
(D) T ditaEl, FM SR FoEE TEdT F &7 ¥ ATaw gHie B A w Bg S s
SEfeTs =1 TR W 5T S ATEH T4 wA

(E)  forem aienfiefi # siif.g® o7 SEAmTd amarsti =0 (Hamr =

= fou o faseul § O wE 3w %1 9Ee FiAu

(1) === (A), (D). (E)
(2)  FF@ (A). (B). (B)
(3)  Fa9 (B). (D). (E)
(4)  FFE (A). (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

frfeafiaa ® 9 FH-0 2-#fomm 5= 27
4 =9

(B) W

(C)  F==w

(D)

(E)y 7%

= fau o fameul # O wE 39 1 =Ea FitAv

(1) === (A), (B), (B)
(2) A (A). (C). (D)
(3) === (B). (C). (D)

(4) === (C). (D). (E)



[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1 [Option ID = 8197]
2 [Option ID = 8198]
3 [Option ID = 8199]
4 [Option ID = 8200]

AN wN -

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

TIF T F T 29 A A 2015 © HAd fawm |em-4 O metdn FofatEs @ 8 wE-m @5 A
R

(1) 379 T 3R agee (2) ToTEETTER fore

(3)  TEl IHEA (4) T FEEE U SATEEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]

AN wN -

1 [Option ID = 8201]
2 [Option ID = 8202]
3 [Option ID = 8203]
4 [Option ID = 8204]

Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

TS 1 WEEHYEE Ug q9T 36 915 20 T e S 2

FHAFT TEE FHI(G5-19 TEMR 501 699 1 A4S d79F S G 3R g favag & an o wew
ot A 21 Tt @4 % wifom A 4 oEen 4 oot 339 % WY TE A HIrHEh i BISH TeaE
TEET B B 99 21 3 7 @ B9 4 10 9 oA SO 9 & g9 7 e gl aeEa w5 R #
ST SFEEAE S I TS @ 2| Wed TE WEEN WA e d FEl AGE 2, TE UH AYaqE
AT -39 e Wi 2| 291 W ToUE oA THE UAED Bl 36 EARERR @i s #in
(fadt) @ 7 w= 2 ff v T 9 TEE W T 7, WY 6 7 Y9 TR e 5eAR T 9w W
@ HEdl geal w1 ff 2@ W R 99 g% Afvash umEE s FEeE w owE w6 g i
A % ged ° e 9 T 21w G @ e St o o e w 2| 3 9 A TR afdete
w9 GEFE B wEed 9 Y 2 gdiE e o sieel # WHg-02 Wiel 9% §| SAaUUiE 99 @ @6

3~ I T S

~ 3~ R o 3~ [



The

AAHIM & I=n UL HietHH (20 spdls ) <71 <hl Al<plA] sl Hepdl &1 Ided d<n A - oAl & =0 5 o
u-Taur (ifedm) 4 110 fafermm smfeh s 6 w6 smof| goe sifgom 2 5 500 fafemm (80 #s)
SR AT G e w g0 WA § gad T A |

major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health

fadia favagg & w12 fava =1 o=8 931 9% 8 &3 1 =97 27

(1)
(3)

. 2 Y ﬁ\ (2) o Y fﬁ
91 (4) =@

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]

1
2]
3
4

A wWw N -

The
(1s

Option ID = 8205]
Option ID = 8206]
Option ID = 8207]
Option ID = 8208]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T W AEGHEE U2 9T 3 915 5T T weT % 5 2|

HAFT = HI(F5-19 TEMR 501K 509 1 SYdYs d79% S g9 iR fga favag & e o mem
ot AT 21 Tt @d % wifom B4 4 ofEen 4 oo 339 % WY TE A9 HIHOH B BISH TeuE
TR B b 99 21 3 7% @R B9 4 10 9 S SO 9 T g9 7 e ol aeea w5 R #@
TTHT SEEAE A IS TS @ 2| Wed TE WEEN W@ R d FE AGE 2, TE TH ATy
AT -39 e Wi 2| 29 W ToUE oA THE UAEA Bl 36 EMEERE @i s #in
(ferait) @ 7 o= & ft o T 99 T W R, Wy d 7 fave TR e & 5eAe @ u9e
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pandemic has left which of the following area unaffected?
ocial (2) Economic

(3) Travel and tourism (4) Telecommunication
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1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic Tecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.
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Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica
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2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic Tecovery.,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC
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The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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